Equations of the form asinx + bcosx = ¢

Auxiliary Angle Method
(i) Change into a sine function
eg (1) 3cos@+4sinf =2 0<6<360°

sindcosa + cosfsina

4siné + 3cosf = 2 o
4
5 X ( isi116' + icosé'J =2 3
S S tana = —
5sin(@ + a) = 2 4

sin(6 + a) = % @ =362

QL Q2 0 + 36°52' = 23°35'. 156°25'
sin ff = — 0=-1317,119°33'
[ =2335 -.0=119°33"346°43




(ii) Change into a cosine function

eg (1) 3cosf@+4sinf =2 0<6<360°

cos@cosa + sin@sina

3cos@+4sinf =2

5x(30086’+4sin0) =2
5 5

S5cos(0—a)=

B =6625

0 —538 =66"25',293°35’
5.0=119"33',346°43'




(ii)\/gsinx—cosxz 1 0<x<2m
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(111) Express cosx — sinx in the form Rcos(x + a)

COSX — SInx = \/zcos(x + 45°)
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(1v) Express 2cos @ + 2003[ 6 + %TJ in the form Rcos(€ + a) where R>0and 0 < a < g
T T : LT
2cosd + Zcos( O + ?] = 2¢cos @ + 2cos Hcos; — 2sm951n§

= 2cosé@ + cosl —\/gsiné'
— 3cosH—J§sinH

= Zﬁcos( H+£J J12
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Exercise 11B;

tana = L
6, 7, 10bd, 13ad, 14a, 15, 18, 19a, 20b NE)
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